- XFXEBLESIEHE - £# 03-1 -

XFEXELESIZHE - £/ 03-1
WOHEE LS, (1R5.5)

(1) —2(3 +3z) —3(6x —3) =

(3) 4(1 —a)+3(2a —3) =

(5) ~3(7b+1) — 4(5b — 2) =

(7) 4(6y —2) +2(5 —4y) =

(9) —3(1 —7a) —4(4a —4) =

(11) 4(7 + 3z) + 2(7 + bz) =

(13) 3(5x +5) + 2(7 + 5z) =

(15) —4(6y —6) —2(2y +6) =

(17) 2(10c +2) — 3(5¢ — 4) =

(19) 6(4a +9) +5(7 + 10a) =

(2) 4(Ty —1)+3(6 —Ty) =

(4) 2(2 —4z) +3(3x +6) =

(6) —2(4+46z) —4(bz—4) =

(8) —2(Bc+1) —4(7—2¢) =

(10) —2(6x +7) + 3(6x + 3) =

(12) —3(7 — 3b) + 2(6 + 3b) =

(14) =23 —z) = 3(x—1) =

(16) —2(7+4y) — 3(4y +3) =

(18) —6(4c+10) +4(9c+7) =

(20) 3(10y +9) — 5(1 - 2y) =

— 13th-note —

)



- XFXEBLESIEHE - £# 03-1 -

XFXEBLESIEH - £ 03-1

WOHEE LS, (1R5.5)

(1) —2(3 +3z) —3(6x —3) =
—24x + 3

(3) 4(1 —a)+3(2a —3) =
2a — 5

(5) ~3(7b+1) — 4(5b — 2) =
—41b+5

(7) 4(6y —2) +2(5 —4y) =
16y + 2

(9) —3(1 — 7a) — 4(da — 4) =
5a + 13

(11) 4(7+ 3z) + 2(7 + bx) =
22x + 42

(13) 3(5x +5) + 2(7 + 5z) =
25x + 29

(15) —4(6y —6) —2(2y +6) =
—28y + 12

(17) 2(10c +2) — 3(5¢ — 4) =
5c + 16

(19) 6(4a +9) +5(7 + 10a) =
T4a + 89

(2) 4Ty —1)+3(6 —Ty) =
Ty + 14

(4) 2(2 —4z) +3(3x +6) =
x + 22

(6) —2(4+46z) —4(bz—4) =
—32z + 8

(8) —2(3c+1) — 4(7—2c) =
2¢ — 30

(10) —2(6z +7) + 3(6x + 3) =
6 — 5

(12) —3(7 — 3b) + 2(6 + 3b) =
150 — 9

(14) =23 —z) = 3(x—1) =

—x — 3

(16) —2(7 +4y) — 3(4y +3) =
—20y — 23

(18) —6(4c+10) +4(9c+7) =
12¢ — 32

(20) 3(10y +9) —5(1 —2y) =
40y + 22

— 13th-note —

)



- XFEARXELESIETE - EH# 03-2 -
XFEXELESIZHE - &5 03-2 ( D) ( 4y )

WOHEE LS, (1R5.5)

(1) =3(2a+5) — 4(1 + 7a) = (2) —4(b+5) +2(3b+2) =
(3) —2(7+7z) —4(1 —5z) = (4) 4(1+¢) = 3(2+4c) =
(5) 3(6 —Tz) +4(5x — 1) = (6) —3(62+3) +2(7—4z) =
(7) 2(6x+5)+3(4+5z) = (8) —2(2a+4) +4(7 — 4a) =
(9) =22z —7) +4(Tz +2) = (10) 2(5 — 6y) —4(y +4) =
(11) 4(1 + 3¢) + 2(3 + 4c) = (12) —4(6 — 2¢) — 2(Tc — 6) =
(13) —2(6 — 6z) +4(5 + Tz) = (14) —3(1 +22) +2(z — 5) =
(15) —3(3a +5) + 4(ha + 3) = (16) 5(5x — 4) + 6(8 — 3z) =
(17) —6(6 + 52) + 5(10 + 10z) = (18) —3(5 —3¢c) — 5(6 — Tc) =
(19) 5(9z — 1) — 4(8 + 10x) = (20) 3(5+ ) +2(9z — 6) =

— 13th-note —



- XFXEBLESIEHE - £# 03-2 -

XFHELHESIEH - £8 03-2 ( M) ( ) )

WOHEE LS, (1R5.5)

(1) =3(2a+5) —4(1 + 7a) =
—34a — 19

(3) —2(7T+72z) —4(1 — 5z) =
6z — 18

(5) 3(6 — Tz) +4(5z — 1) =
—x + 14

(7) 2(6x + 5) + 3(4 + bx) =
27x + 22

(9) =222 —7) +4(Tz +2) =
24x + 22

(11) 4(1 4+ 3¢) +2(3 4+ 4¢) =
20c + 10

(13) —2(6 — 6z) + 4(5 + Tx) =
40x + 8

(15) —3(3a+5) +4(ba+3) =
11a — 3

(17) —6(6 + 5z) + 5(10 + 10z) =
20x + 14

(19) 5(9z — 1) — 4(8 + 10z) =
S5x — 37

(2) —4(b+5)+2(3b+2) =
2b — 16

(4) 4(1+4¢) — 3(2+ 4c) =
—8c — 2

(6) —3(6z +3) +2(7 —4z) =
—26z + 5

(8) —2(2a+4) +4(7 — 4a) =
—20a + 20

(10) 2(5 — 6y) — 4(y + 4) =
—16y — 6

(12) —4(6 — 2¢) — 2(7c — 6) =
—6c — 12

(14) =3(1+2z) +2(x —5) =
—4x — 13

(16) 5(5x —4) +6(8 — 3x) =
Tr + 28

(18) —3(5 — 3¢) — 5(6 — 7c) =
44c — 45

(20) 3(b+x)+2(9x —6) =
21x + 3

— 13th-note —



- XFERXEBLESIEE - £ 03-3

XFEHXE LESI=HE - E# 03-3

WOHEE LS, (1R5.5)

(1) 2(5+3¢) +3(2c—17) =

(3) 45 —y) +2(4-Ty) =

(5) =23z +1) — 4(2x — 3) =

(7) 3(7 +6b) — 2(3b+ 4) =

(9) =3(Ta —5) +4(2a+2) =

(11) —4(7b+4) — 2(7 — 7b) =

(13) —2(Tz —3) —4(3 —z) =

(15) —4(5 — 3a) — 3(2 + ba) =

(17) 2(8 — 2¢) — 4(8 — 6¢) =

(19) —6(9b — 7) + 3(10b + 10) =

(2) —2(4z+6) —3(6x+7) =

(4) 4(5z—5)+2(2z+1) =

(6) —3(7 + 3b) + 4(5b — 5) =

(8) 2(a—2)+3(7 + a) =

(10) 3(1+ 7b) — 4(6b—T7) =

(12) —3(7 — 4z) + 4(2z — 3) =

(14) 2(1 — 3z) + 42z — 1) =

(16) 6(8z —6) + 2(7 + bx) =

(18) 4(5z — 3) — 3(5 + 2z) =

(20) 4(2 — 42) — 6(62 + 6) =

— 13th-note —

)



- XFERXEBLESIEE - £ 03-3

XFEHXE LESI=HE - E# 03-3
WOHEE LS, (1R5.5)

(1) 2(5+3¢) +3(2c—17) =
12¢ — 11

(3) 4B —y) +2(4-Ty) =
—18y + 28

(5) —2(3z 4+ 1) — 4(2z — 3) =
—14x + 10

(7) 3(7 +6b) — 2(3b+ 4) =
12b + 13

(9) =3(Ta—5)+4(2a+2) =
—13a + 23

(11) —4(Tb+4) — 2(7 — 7b) =
—14b — 30

(13) —2(7z —3) —4(3 — ) =
—10x — 6

(15) —4(5 — 3a) — 3(2 + 5a) =
—3a — 26

(17) 2(8 — 2¢) — 4(8 — 6¢) =
20c — 16

(19) —6(9b — 7) + 3(10b + 10) =
—24b 4 72

(2) —2(4z +6) — 3(6x +7) =
—26x — 33

(4) 4(5z—5)+2(2z+1) =
24z — 18

(6) —3(7+3b) +4(5b—5) =
116 — 41

(8) 2(a—2)+3(7+a) =
5a + 17

(10) 3(1 4 7b) — 4(6b — 7) =
—3b + 31

(12) —3(7 — 4z) + 4(22 — 3) =
20x — 33

(14) 2(1 —3z) + 42z — 1) =
20 — 2

(16) 6(8z —6) + 2(7 + bx) =
58 — 22

(18) 4(5x — 3) — 3(5 + 22) =
14x — 27

(20) 4(2 — 42) — 6(62 + 6) =
—52z — 28

— 13th-note —

)



- XFAKELESITE - ¥ 03-4 -
XFEXE LESI=HE - EH 03-4 ( D) ( 4y )

WOHEE LS, (1R5.5)

(1) 2(2—4y) + 305y + 1) = (2) —2(1+ 7b) + 3(4b — 5) =

(3) 2(62 +6) + 3(5x — 2) = (4) 3(7y +3) +2(5y +3) =

(5) 4(5 4 22) — 3(1 — 4x) = (6) —4(5—c) —2(2+¢) =

(7) —4(y —5) — 3(5y — 3) = (8) 4(1+2b) —2(3b+4) =

(9) 2(2+¢)+3(2+¢) = (10) 3(5—z) —2(z — 2) =
(11) —3(32+5) —4(4—z) = (12) —2(3 +42) +4(52 — 3) =
(13) —2(T+b) +4(Tb—7) = (14) —2(5¢ — 6) + 4(6 + 6¢) =
(15) —2(5z — 2) — 3(2 + 4z) = (16) —6(22 — 10) + 5(9z — 9) =
(17) 5(9 4 10b) — 4(10 — 4b) = (18) 4(10z — 6) + 5(4 + 3z) =
(19) —5(4 + 62) + 4(10z + 9) = (20) —2(10b — 8) — 3(10b + 5) =

— 13th-note —



- XFXEBLESIEHE - £ 03-4 -

XFXELESI=H - £# 03-4

WOHEE LS, (1R5.5)

(1) 22 —4y) +3(5y + 1) =
Ty + 7

(3) 2(6z 4+ 6) + 3(5z — 2) =
27x + 6

(5) 4(542z) — 3(1 —4x) =
20x + 17

(7) —4(y —5) —3(5y —3) =
—19y + 29

(9) 2(24¢)+3(24¢) =
5c + 10

(11) —3(3245) —4(4—2) =
—5z — 31

(13) =2(74+b)+4(7b—17) =
26b — 42

(15) —2(5a — 2) — 3(2 + 4z) =
—22x — 2

(17) 5(9 + 10b) — 4(10 — 4b) =
66b + 5

(19) —5(4 + 62) + 4(10z + 9) =
10z + 16

(2) —2(1+7b) + 3(4b — 5) =
—2b— 17

(4) 3(Ty +3) +2(5y + 3) =
31y + 15

(6) —4(b—c)—2(24¢) =
2c — 24

(8) 4(1+2b) — 2(3b+4) =
2b—4

(10) 3(5 —z) — 2(z — 2) =
—o5x + 19

(12) —2(3 +42) +4(5z — 3) =
12z — 18

(14) —2(bc —6) + 4(6 + 6¢) =
14c + 36

(16) —6(2z — 10) + 5(9z — 9) =
33x + 15

(18) 4(10x — 6) + 5(4 + 3x) =
95 — 4

(20) —2(10b — 8) — 3(10b + 5) =
—50b + 1

— 13th-note —

)



- XFERXBLESIEE - £ 03-5
XFRXEBLESIEHE - £7 03-5 ( ) ( o7 )

WOHEE LS, (1R5.5)

(1) —3(6 + 6b) + 2(6 — 5b) = (2) 3(6 + 3¢) — 2(6¢ + 6) =
(3) 3(2— 6z) —4(6z + 1) = (4) 2(2c — 6) — 3(4c + 6) =
(5) 3(7 + 62) +2(6 + z) = (6) —2(4z + 6) — 4(22 — 7) =
(7) 4(5 + 3b) + 2(1 + 6b) = (8) 3(1+¢) +4(4c—3) =
(9) —2(6x +7) — 3(7 — T) = (10) —4(5b+T) — 2(7b — 6) =
(11) 3(6 — 3¢) + 4(4 — 7c) = (12) 3(6 + 4y) — 2(6y — 5) =
(13) 4(5 — Tz) + 3(3 — 3z) = (14) 2(5x — 5) + 4(4 — z) =
(15) —2(2a —4) —4(2 —a) = (16) —4(2x —2) — 6(x + 3) =
(17) —2(8y — 1) + 4(6 — 2y) = (18) —2(3 — 5z) —4(5z — 5) =
(19) 6(5z — 6) — 4(x + 5) = (20) 6(3 + 9a) + 3(6a + 1) =

— 13th-note —



- XFERXBLESIEE - £ 03-5

XFEXELESIZHE - £5# 03-5

WOHEE LS, (1R5.5)

(1) —3(6 + 6b) + 2(6 — 5b) =
—28b — 6

(3) 3(2—62) —4(6x+1) =
—42x + 2

(5) 3(7+ 6z) +2(6 + ) =
20x + 33

(7) 4(5 + 3b) + 2(1 + 6b) =
24b 4 22

(9) —2(6z+7) — 3(7 — Tz) =
9 — 35

(11) 3(6 — 3¢) + 4(4 — 7c) =
—37c + 34

(13) 4(5 — 7z) + 3(3 — 32) =
—37x + 29

(15) —2(2a —4) —4(2—a) =
0

(17) =28y — 1) +4(6 — 2y) =
—24y + 26

(19) 6(bx —6) —4(z+5) =
26 — 56

(2) 3(6 4 3c) — 2(6c+6) =
—3c+ 6

(4) 2(2¢ — 6) — 3(4c + 6) =
—8c — 30

(6) —2(4z +6) — 4(22 — 7) =
—16x + 16

(8) 3(1+¢)+4(4c—3) =
19¢ — 9

(10) —4(5b+7) — 2(7b — 6) =
—34b — 16

(12) 3(6 + 4y) — 2(6y — 5) =
28

(14) 2(bz —5) +4(4 —x) =
6x + 6

(16) —4(2z —2) — 6(z + 3) =
—14x — 10

(18) —2(3 —5z) — 4(5z — 5) =
—10z + 14

(20) 6(3+9a) +3(6a+1) =
72a + 21

— 13th-note —

)



